

Puzzle 11112 - Monday, 06 July, 2015 - Difficulty 10

<sup>12</sup> 4 ∇	7	1	<sup>5</sup> 3	2	5	9	6 >	<sup>18</sup> 8
2	<sup>13</sup> 5	8	<sup>21</sup> 4	9	6	1	7	3
9 =	3	6	8	7 >	<sup>11</sup> ∧ 1	4	<sup>7</sup> 2	5
<sup>19</sup> 1	2	<sup>15</sup> 3	9 >	5	8	6	<sup>30</sup> 4	7
8	4	5	2	6	7	<sup>4</sup> 3	1	9
6	9 <	7	1	<sup>7</sup> 4	3	<sup>17</sup> 5	8	2
7	1	2	<sup>20</sup> 5	3	4	8	<sup>15</sup> 9	6
3 =	6	4	7	8	<sup>11</sup> 9	2	<sup>10</sup> 5	1
<sup>22</sup> 5	8	9	<sup>7</sup> 6	1	<sup>12</sup> 2	7	3	4